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1 2 . nt+2n’+n®

+F+W)]/{n [(1+E)n +1+F] }_W_

f'(n) nl (0,+¥)
o1 T
Ll(grgf (n)—-F<O,L|®er (n=1>0

17
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39

f' (=0 nl (0,+¥) n, -
f'(n)>0,nT (0,+¥)

f(n) ni (0,+¥) f(n,) -
f(nN)=0

(m* +m*)n* +(2nt +2m*)n® + (Mm* - 2m® - 2P + m)n? - (2m* + 47

+2m)n*- (m*+m’ +m+1)=0
o m n

m

)

2 2 - 2
n4+2(m +1)n3+m - 3m+1n2_ 2(m+1)n_ m+1_

m(m+1) m? m

_2(mP+1) __ m - 3m+1 = 2(m+1) o= m +1

@

(1) - I(min
m(ml R")

0

m(m+1) ' m? m?
n*+pr’ +gn’ +rn+s=0

.
@

n*+ pn® +(q+an° +(r+b)n+(s+c)=an’+bn+c

b? =4ac, (n2+§n+t)2,

n*+ pn®+(q+an’+(r +b)n+(s+c) = (n’ +§n+t)2

2
=n*+ pn3+(2t+%)n2 + ptn +t?
p° _ o P
2t+7—q+a a—2t+7- q
pt=r +b b=pt-r
t? =s+c c=t’-s
b° =4ac,
8- 4qt? +2(pr- 4s)t- (p*- 4q)s-r’>=0
(OF
@
. Q2 Pr-4s, (p°-4g)s-r° _
2 4 8

m

3

&)

®

®

®

b = q_ m’-3m+l :pr-4s:Odl:_(p2-4q)s- r’ _ (m-1?

2 o ° 4
t*+bt*+d, =0
(6) , t=h-s
h®+(b - 9h? +(3s?- 2b 9h- s° +hs+d, =0

18
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_b
Q) s S_E
s B 2
h -§h+2—b17+d1—0 ®
_ B _ (3m’- 3m+1)?
P
a =2_bf+d __nf- 7m’+13m° - 102m° +186m" - 102m® +13m” - 7m+1
27 108m°(m+1)?
h®+ph+q =0 ©
3 &_ 1[ m® - 7m’ +13m° - 102m° +186m" - 102m?® +13m” - 7m+J]2
4 27 4 108m°(m+1)°
_[_ (37 - 3m+1)2]3
12m’
_ m? - 9m’ + 28m° - 81m’ +187m° - 252m° +187m* - 81m* +28m*- 9m+1
- 216m°(m+1)*
__(m-D*(n’ - 6m+1)(m° - m® +6m* - 117 + 6n7 - m+1)
216m°(m+1)*
__(m-*(m?- 6m+1)[(m- )*(m* +n? + 707 + m+1) + 7]
216m’(m+1)*
2 3
() m>3+22 0<m<3-22 , %+%>o, ©)
2 3
an m:3+2ﬁ m=1 m=3- 2\/5 , %+%:0, ()

2 3
am  3-24J2<m<3+242 ,%+%<0, ©

(9) , m © hy .
t,
n®+= n+t0—+(\/_n+T)—_(\,2t + B gn+ pto-r (10
2\/2'[0 +—- q
(10)
k. = 1 = 1
min () LI +4m+1 f(n)_|_mz+4m+1'
min (m+1)2 0 (m+1)2
, om , @
m=1l ,Q)

n“+2n°- n’-4n-2=0 (n+1%(n’-2)=0, n>0, n=+2.
19
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1 ABC ,D BC .G AD ( A D) ,BG CG AC
AB E F,
(SDBGF + SDCGE) £ 2(3' 2\/5) SDABC (11)
CE
— =42 s .
( — 2 )
11 [1 1.

m=m=3+242 ()
n* +(6- 342)n° +(9- 6/2)n% + (28 2- 40)n- 100+72y/2=0
(n+2- 2Y[* +(2- J2)n- 9+6+/2]=0
-1 Vi4- 2 _ (J7-1)(2- 2)
2 2 )

n>0 n=

2 ABC ,D BC ,E—2=3+2J§,G AD (A D) ,BG CG

AC BB E F

i6(2\/ﬁ +4- 4J7 +[2) (647 - 9 +4-/14- 7[2)

(SIJBGF+SJCGE)£(2\/E_ 11\/5"‘4'\/7-12)(2\/ﬁ-4\/7+\/§)(4«/7+2\/ﬁ-3\/§)som 12
) CE _(J7-)(2-+2) N
EA 2
m=3- 24/2 D
n* +(6+3v2)n* + (9+6+/2)n%- (2842 +40)n- 102- 724/2 =0
(n+2+2)°[* +(2+/2)n- 9- 64/2] =0
n>0 n:ﬁ-1+méﬁ:(ﬁ'l)2(2-ﬁ).
3 ABC ,D BC B3 056 ( A D ,BG G
DC
AC AB E F,
8(27 - 2++/14- \2)(2/14 +4+2- 3\/7- 6) 19

(Steer + Sheee) £ (\/ﬂ- - 2\/?)(2\/7"“/]?' \/5)(\/]2- 6-2\/7+3\/§) Shoc

CE _ (7-)(/2+2)
EA 2

).

[11 2003.4.
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351200
DABC A B C a b c,s R
DABC .a :
1919 R X\Veitzennock g
a a® 4/3D. 1
1 .2000
d [2]
é_azcos3B_2C34\/§D. 2
2 1 , 2, . 2
2 ’
1 § a®cos(B- C) :LR(32+8R2 +6Rr +1?) . 4

a acos(B- C) = bcosB+ccosC,

a &’ cos(B- C) =g a(bcosB+ccosC)
-a bc(cosB + cosC)
=§_ bcé_ CoSA- é_ bccos A

= 4 bcd cosA- %é (0> +c?- a?)
= & bcq cosA- %é a? b 5

a cosA:1+LR,é be=s*+4Rr+1°, § a®=2(s’- 4R - 1?),

4
cos? 2 C :%ghcos(B- C)g.
éla’lcoszI'D"ZC:Z—le(ZRH)s2 +4Rr? +r°y. 6

c0s2q +cos’q
> )

2 cosq3-%, cos’q 3

cos2q +cos’q 0

2
2 2’

,cos’q 3

(cosq -1)° (2cosq +1) 3 0.

21
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[ 3 e

B-C. 1éo o B- Cy

Q 2 3 2 2
a“” cos 3 —_zg a“cos(B-C)+Q a“cos s
a 260 (B-C)+a >l
4 6
S 42 B-C 1. 2 2 2 3
a a’ cos’ 3Eg(2R+3r)s +16R*r +16Rr? +3r°j.
2, D=g,

%Q(ZRﬁ%r)s2 +16R?r +16Rr? +3r°f® 4/3sr,

(2R+3r) s+(16R°r +16Rr2+3r3)13 16\3R . 7
S
H(s), Gerretsen :§°3 16Rr - 57,
2 3
16Rr - 52 2 16Rr +16Rr? +3r ,
2R+3
H (s) . H(s)® H(J16Rr-5r7).
7

(2R+3r)(16Rr - 5r2) +16R% +16Rr? +3r° 3 16y/3Rr/16Rr - 5r2

48R’ + 54Rr - 12r%3 16RJ16Rr - 5r°
567R' - 1776R°’r +140R%? - 324Rr®+36r*3 0
768x* - 1184x3+ 467x* - 54x+33 0 X= 23
"
U (x- 1)(768x° - 416x* +51x- 3)2 0,
Euler R32r x31, , 2 B d
’ ABC
® o 9 C (o)
A bc? § a’cos? BZC abccos 3 43D.
4
NER B-C bc
w, £E—bcy = U bccos 3 4\/§D—°—,
576 ed 2 a bc
10 , 10
6 abc=s+4Rr+r2,
8R%- 2Rr- r?3 &?,
Gerrtsen 4R* +4Rr+3r%3 &, , 10
9 .
o o 2b*c®+a’h*+a’c?®- b*- o
-a acos(B- C)=3 a - 2abca (2b2c2 +a’h’+a’c’- b’ - c“)
1 o) o) 4Sf'
=———(23 b*c*- q a*)=—16D* = —
bc( a a ) abc R

22
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\ & beeos(B- C)=§ (a*+§ be)cos(B- C)- § a(a+b+c)cos(B- C)
=8 &’ cos(B- C)+@ bcd cos(B- C)- 2s§ acos(B- C)

o o . o 8s°r
= & cos(B- C)+g bcg cos(B- C)- =

1
2R?

4 Bbc=+4Rr+1° § cos(B- C)= —(s* +2R +r?- 2R?)

B-C o

abc

8 beeos(B- C) =28 becos®

1
4R

0 B-C 4 N
a bccos’® TS Es'- (8Rr- 2r2)32 +16R°r +20Rr* +8Rr° +r*U

& bccos

9

E%é bc+%é_ bccos?

£ § a?cos?

1o 1o
A bc+=17 bccos?
Za Za

S+4Rr+r?2 1
+

U - 65° - (8Rr - 2r2) 2 +16R% +20R*r ? +8Rr® + 1l
2 8R’ € u
Jaz—lezRﬂ)s2 +4Rr? +1°Y 6
U -st +(4R2 +12Rr - 2r2)s2 - (32R3r +8R’r? +4Rr?® +r4) 30
U (4R2+4Rr +r2- s2) (sz- 16Rr + 5rz)+ 8Rr (4R2+4Rr +12- s2)
+4r*(R+2r)(R-2r)3 0,
Euler Gerretsen , , 9
-2 10
11 , , ,1992.
21 110 i ) , , 2000 6.
31 , , , 1996 4.
[4] , ., 2002(1).
51 BOTTEMA, L2003 1.
351200
1 2

R2-2Rr3%(b-c)2, 1
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Row’ )
2r ha2
[31
BF35 a : R2- 2Rr 3 18é3+Cc’(b )?
88 a g
BF35 b : R2- 2Rr 3 1aé”CO( c)’
168 a g
2
BF95 g : R2-2Rrs =Y ().
16 h,
ABC
laav, b+CO 2
R? - 2Rl‘3— —2_— . (b- ()]
4&h, 2a ;a( )
'_
16‘ bc
U R*-2Rr3 =g b-c)’,
ag(a+c- b)(a+b- )} ( y
17 6,7
x=cos 2 & (£1),
f=1- 4xsin£‘+4sinZéa 1- X%, 4
2 2
f:1-4xsiné+4sin2é38%sinég (1 x) 5
2 2 & 29
.2
, 4 aF‘Zsiné-x230, 5 q- 2xsmé9 30.
8 2 [} 8 29
2-1
A<60 O<25in§<1, 11,27, 10 a%sm_ :
2¢g
4 -f3a‘325iné'c-’2_I (1- x2)
& 2p
. A ~ o AG
A3 60 , 2sin221,2-11 6,7, Bsinl?s 8923|n— ,
2 2 € 25 &
2
5 f3°’°2sm—9 1- x?).
geinos (1)
ABC,
A..2-|
f3 Bgn 20 (1-x2). 6

& 25

24
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[11
21
31

A
R2-2Rr:§i 4xsm§+4sm Ad _ r2

2¢g
= 8
1o, ID+CO( e - A+ 46R?sin? 2 (1 x2)
4€h, 2a 4¢ognAx 2
€ a
2
=Bsin9 (1- XZ)RZ
& 29
6 1
| =0 1 2,
1 R? 2Rr3%(b-c)2 1
laan, Ogb+C
2 R®- 2Rr3 ——b-c) P BF35 a
8%h, § a —( )
3 R2-2Rr3i§%98w9 (b-c)fu Rale
16&h & a g 2r h?
P BF35 b BF95 g
N ¢)) cosB+cosC=1 (2) b+c=2a
IT(O,Z) , (3 a=b=c.
owd —72, ) 198 6 .
Gerretsen , ,1995.3.
. BOTTEMA, 2008 1
362341

1 X=X+y'+ 23XV =XV +y"7'+ Z%'s 1= Sx;5,= Yyz53=PX,

(L1) S¢C=s.~ 25,

(L2) SC=5," 35:5,+ 353

(L3) SX'=s," 4s,%5,+ 25,°+ 4555

(14) SC=5,"— 55.°5,+ 5615, + 563(S1— S))

25
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(15) SXGZS]_B— &14324‘ %12522— 3234' &133(312— 252) + %32
(16) SX7: 317— 7s 153 >+ 14s 135 22— 7s1S 23+ 753(3 14— $1ZS s 522) + 7548 32

(17) SXy=s:5~ 355 30’2:% [s1S- 353~ P(x=y)]

(18) SXy=5:5¢y- s,° +s1S3
(19) SXy= (51~ S)SCy- 157" +53(51+S2)
(110)9¢Y*=5,9¢y- s5(s1™- )
L1D)SXY= (51 25:157+55)SXY— S2° (1~ S2) +S1°S3
(L12SKY= (5157 Sy Sz S153(51— 45, 385
(113)3¢Y = (51" 351°52+5,+25159) XY~ S1°5,°+ 53185
+33(314— S1’So+ 2522) +5:83°
(L14SY*= (5157 S7— $159SCY— S187— S153(S1- 562 56185
(L15)XY’=(s 27— 5155)9¢Y— S:55(S1— S2) +S155
(14),(115) :
SC=5,5¢1 5,9+ 5:5¢=51(519¢— $,9¢ + 535X 5,9 +5;5¢
= (512— 32)5X3— (S18—- 33)S<2+51253
= (51 S2) (S1— 38152+ Ba) (S1S2-S3)(S1— 252) +S1°S3
=s,— 55,75+ 56155+ 553(312— S2),
SXY- SEY =X (- y) +Y (- - X y +y- 2)
= X(x- V)= 2) + 2(y- 2)(y*- X))
= (% Y)y- XY +yz+ D) 2(¢+xy +Y)]
= (= Y)O- 2)(z XY+ Y7+ D+ xyz(x +y +2)] = (2SKY— $152+35)(S2— S1S3) ,
XY+ ¢y =9y (51 2 =519¢y - 5:5¢Y =545, B1555+ 3B SoS2— 25159),
2 (L)
2  xy4R,
(2.1) 353£ Y £5:5,— 653
(22) S E S SAYESy(S1— So 35153
(23) 5185+ 5351~ 65) £ (51— 5PV £ 51757 2515, so(ds1— 95)
(24) 51°S3E ;XY £5185— Sa(S1°+ 3))
(25) 3123 22— 523 +5:S5(S 12— 7so) + 9532£ (s 13— 258 2)S<2 y
£5:%5 351575~ S1S3(ds°— 135, 955
(26) S5+5153(51— 452) £ (5157 3595y
£5,5,— s, 5153(512 +25)) + %3
(27) S5+ 51555 17— 357) £515,:9YV £S5, — S, — S1°53
(28 5,4+ 551555 955 £ 35:9CYES,— 251553
(29) 51755~ 185> SS1- &1°5,+755)+95153 EG1- B2+, + 5159 Y
£s 155 — 4s 135 22 +3S 23— 2s 3(25 14— 9 125 55 22)— 12ss 32
(210)318,+S5(S1— 581°S7— 25,)+651S5E (S752- So— 35159KY
£5:°5,— 2515, — S351 4815 56,) + FB1S5
(21D)s584(s s 2 6518 32£(3 S~ S1S 3)S<2y£s 1So— 25,8 S 25 2)+951S &
(X! V2 Z)® (X! Z, y)
1)
0f Xy(x— 2°=SCy—s155 (L8) (22
0F SCY(%— 2°= ¢y— 25.9¢+s,5; (19,11 (23
0f Sy (%= 2°=SCY— s,5; (L10)  (24)
0£ SCY(X— 2°= Oy 25:5¢+s:Xy  (L11),(12),(17) (25
0F SV (= 2°= Xy— 259+ 25" (112)  (26)
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0£ /(- y2)' = XYV- 25,5y (L12,17) (27

O£ 7%= 2°= Y- 25,5/ +5:.5¢Y,SCY’ =s,— 35:5,55+ 55 (L7) (29

0F Xy(x— 2= 9y— 25.5¢+5:5¢z (113),(19),(L7) (29
0£ SCY (%= 2°= SCY— 25.5¢y 555 (114),(18)  (210)
0£ AV (x— 2°= X'y 25:94 +5:55, 9 =s,— 25;5; (115  (211)

SPha- b 20% (& %- 3)

(- 13 202 (& % - 3)

S(a-b)(s-0)2 0 (t=12 3 4
S(a-b)(s-)£0 (t=—1-2)
a=y+zb=z+xc=x+yxyz R,
U S12329<2y£313322— 51323— 33(314— 522)— 3'51532

27), 3 54(S1°55— 253)— S1'S3, S22 35153, \
U (51252— 25153)3<2y3 51533+ 53(514— 451252— 522)"'651532
S 125 — 25:S 3= (S ]_25 S 22— 35S 3)+(S 22— S1S 3) +2s 3 (2 10),(211),(2 1)

(5157 25153) VB S183+53(S1— 561°S— 25,7)+651S5+5:55(S1°+S o)~ 651S5+651S3

t=1,23,4

SAY £S5 653

519 £51°5,+ 55— %183

(512— SZ)SXZYESlssz"'SlSzZ— 683(2512— S2)

(513— 25,8~ 53)9(2)/551452"'512522— 322— 5133(15512— 1452)"'6532
(21),(22),(23) s, 351555, 35, ~

(25,21
(51 25157 S)XYES1 'S 351545, — S1Sa(ds,— 135, 1255 a
@ il
18532— 5152(]_1.512— Sz)+4812$22— %233 0 @
z=0y=1 2 1A9E+5x+7)3 0(x>0), 1 2 @
t=— 1~ 2
1S ES S 55— 35553 @
(513+ Ss)SgyESflSz— 312522— 523— 5133(3'512— 4s,)- 6532 ™
(22 s

s+ 53=(313— 251S,)+2(S15~ 383)+7s3  (25),(2.6),(21)
(313+53)S<2y551452— 312322— 323— 5133(6512— 16s5)— 33832 3

®, 313— 45:S,+%B3% 0, X(X—y)x— 23 0, , ™
(1L1)~(115) (21)~211), [345]
[ . [J. 2002(10).
2 . [J. ‘BOTEEMA,
3 .BOTEEMA, [M]. : 2003.1.
[4 .BOTEEMA, [3. , 3 ,20016
5 .10 [C. : ( )y 200086.
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362341
BOTTEMA
1 1 g 0 BOTTEMA
b+c
st 8 22 sgs @
b+c
k= 1-%«/5 +§«/€ 1= 1+§«/§—%«/§ (1-k =1-1).
1 . T,=atbt+cT,=abt+bctca Ts=abc, 1

KT To—(2+K)T2£ 28 a’be ITTo—(2H) T30 KT1To—(2+K)T3E T1T,—3T: P (ab) £IT,T,—(2+H)Ts

- . P(a- b .
U (IH)(TiTo—To) £ P(a-h) £ (1K) (T:T-Tx)U Ha,b,g° I 5 EZ - b))I £ 14<=‘wE 3 55 ()
ab>c a=b b=c ca , 2
< F@ab, o £ 1-k (€)
B _ b-céa-b)a- o bc u
Rabo-Hprebo b+cg@+b)a+c) (+c)(2c+b)f
_2(b- c)(a- b- c)(ab+ca- b <
" (a+b)(a+c)(2b+c)(2c+h)
3
_ bc(b - )
Rbreb o= @b ro@ern t 1k 0 @
b=c(1+X) 30,
1 2+x(3+29(3+x) _
T K& LT =f(x) (=0 ®
() - fY&0

X+ 28-7¢18x—9=00 10(3¥—28x—28)" = (41X —89x—89)
0 410 (3¢—28x—28) = —(41 X-8%—89) ( x>0)
0 (41+13+10 )¥—(89+28+/10 )x—(89+28+10) = 0 (x>0)
_ 89+ 28410 + {44917 + 1420410

U
X 2(41+13410)
_ 89+28+/10 +674/5 +106+2 =100 +y5+42- 1,
2(41+13,10) 2

XO:%(JE+J§+J§-1), <x<% fHEO, x>x% fXEO,

28
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16x0 +18

Xo *+ X

e 5 2104 210 + 45 +42 +5) .
=10 ++/5+2 +10 + 1o 128 =8J2+5)5,

f(min =f00) =20+ 11+

k

Kire _1m =1- —'\/54'5'\/_

2 , 1 , k|l

( 312500)

(1]
r «/__ C

BF141 —(1+—) 3d9n— snz

2

BF179 T, +?3 Js(s- b) +./s(s- ¢)

(e}

(e}

([

(@)

S .2
a 212 2.2
BF193a 3 9 ab” +awc
bc 2 a’h?+b’c?®+c’a?
( BF193 a,b,c ).
BF2000) a(b+c)? 2D tan2. (2+33C 4 3*Dy
9 2 b C
c b 2a
+ 32 *
at+b a+c b+c )
2,3 “ u— , “u=V
1. BF141
[ ]—(1+ ' J_ — n—U (1+L)«/_36S|n—smE
2 2 2 2

g“ 4(s-

a)(s- b)(s- c)g«/_ 3 6 /(s- c)(s- a) x\/(s- a)(s- b)
abc Ha '\ ca ab

[abc+4(s- a)(s- b)(s- o)</bc , 6(s- a)/(s- b)(s- ¢)

a’bc a/bc

abc+ 4(s- a)(s- b)(s-c), 6(s- a)4/(s- b)(s- )
ab

a’bc

C
abc+4(s- a)(s- b)(s- c)3 6a(s- a)-/(s- b)(s- )
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U [abc +4(s- a)(s- b)(s- €)]* 2 36a?(s- a)’(s- b)(s- ¢) 6))
ja=( +mz
tb=( +1)z,( ,mz>0), @
¥c:(m+])z

O [(1 +m( +)(m+1)+4 m?z°3 36( +m)?l ne®

O [0 +m( +D(m+D+4 m?2 360 +m?lm @)
u=l +mv=Ilm, u>0,v>0, @

U [u(u+v+1) +4v]® 2 36u?vU [u(u+v+1)+4v]?- 36u?v3 0

U (u®+8u+16)v? +(2u®- 26u? +8u)v+u* +2u® +u?3 0 ®)

) D=-144u®(u- 2)* £0, ) . BF141
2. BF179

[ ] ra+%3 \/s(s- b) +./s(s- ©)

0 2 +PSs 5sTh 50y 0 AD" +bes(s- @) , Js(/s- b +4/s-c)
s-a 4D 4D(s- a)

U s(s- a)[4(s- b)(s- c)+bc] 3 49(s- a)J(s- a)(s- b)(s- c)(Js- b ++/s- c)
U [4(s- b)(s- c)+bc]3 4J(s- a)(s- b)(s- ¢)(+/s- b++/s- c)
O [4(s- b)(s- ¢) +bc]?3 16(s- a)(s- b)(s- c)[a+2/(s- b)(s- O] (@

ja=( +mz

ib=( +)z,(,mz>0), @

1 c=(m+)z
O [4 m+( m+] +m+1)]2Z* 3 16l m{l +m+ 2./l m|z*
O [4 m+( m+] +m+1)]? 3 16l nfl +m+2,/i m] )

2

u=Il +mv=Ilnm, u>0,v>0, VEUT )
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